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CERTIFICATE IN LABOUR IN
DEVELOPMENT

Term-End Examination

dJune, 2006

CLD-01/BLD-101 : POLITICAL ECONOMY
OF LABOUR IN INDIA '

Time : 2 hours Maximum Marks : 50

Note : Answer all the questions. Questions no. 1 to 4 are
to be answered in about 300 words each.

1. Give an account of the broad scenario that has emerged
after 59 years of development process in India. 10

OR

‘How is the sectoral structure of rural workforce distinct
from that of urban workforce ?

2. Explain the salient features of labourers in the organised
sector. 10

OR

What do you understand by the term ‘Workers Participation
in Management (WPM)' ? Identify the different ways in
which WPM is implemented in India.

3. Which strategies would you like to suggest for balanced and
harmonious industrial relations in India ? 10

OR

Explain the major trends of agrarian relations in India.
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4. Explain the various challenges being encountered in
providing social security in India. 10

OR

Identify the income and non-income dimensions of poverty.

3. Explain the distinction between any two of the
following : 2x5=10

(i) Retrenchment and Dismissal
{ii) UPS and CWS status of employment
(i) Secondary sector and Tertiary sector

(ivy Mahalwari system and Zamindari system
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